6 CONJUGATION

Conjugation

In the present tense, a Russian verb has 6 endings, corresponding to the person of the
verb (see above). The singular subjects are: I (Ist person), you (2nd person), or he/she/it
(3rd person). The plural subjects are: we (Ist person), you (2nd person), or they (3rd
person).

In Russian there are two conjugation classes. The first conjugation is referred to as the
-e- type (& when stressed), and the second conjugation is referred to as the -u- type.
Below are the endings of the two conjugation classes for the present tense. Class II is
used for type 2 regular verbs. All other regular verbs follow Class I.

Conjugation Class I (-e- type)

SINGULAR PLURAL
FIRST PERSON -10/(-y) -eM/ém
SECOND PERSON -ellb/-E1Ib -eTe/éTe
THIRD PERSON -eT/ér -10T/(-yT)

Conjugation Class II (-u- type)

SINGULAR PLURAL
FIRST PERSON -10/(-y) -UM
SECOND PERSON 71110 -uTe
THIRD PERSON -HT -ar/(-aT)

Mood

Russian and English both have three moods: indicative, imperative, and subjunctive.
The indicative mood is used to express factual statements; the imzperative mood is used to
give commands; and the subjunctive mood is used to express hypothetical or contrary-to-
fact statements.

Warning

Different textbooks, both in Russia and abroad, tend to use different rules and methods
for teaching conjugation and the Russian verbal system. However, once the basic rules,

as explained above, are memorized and patterns are established, the student will be able
to predict the conjugation for the majority of verbs.
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The Present Tense

Examine the conjugations of the six model verbs in the present tense, shown below. You
will see that endings are not added, but are truncated, for example, @ity >10. This is one

of the key features of the Russian one-stem verbal system.

Present Tense Conjugation Types

One example of each of the verb types is shown below; variants of each type appear on
the next six pages. Although all the verbs on this page have a set stress pattern, some
verbs in the following pages exhibit a floating stress.

Stem+ending Singular Stem+ending Plural
pabéTaTtb to work Type 1

paboTam +y > paboTaio paboTan + em > paboTtaem
paboTanm +ewb >  pabdTaewb paboTan +eTe > paboTaeTte
pabotan +er >  paboTaet paboTain + yT > paboTtaioT
roBOpuTb to speak Type 2

roBopu +y > roBOPHKO roBOpy + UM > roBOpPUM
roBOpy + nb > roBOpvilLb  rOBOpU + nte > roBopuTte
rogopvi + ut > roBOpUT roBopu + a1 > roBOpsAT
NaxHyTb to smell Type 3

naxHy +vy > NaxHy NaxHy + em > naxHem
naxHy + ewb > naxHeLb naxHy + ete > naxHete
MaxHy + et > NaxHeT naxHy + yT1 > MaxHyT
TpéboBatb to demand Type 4
Tpébosa +y > Tpéobyio Tpébosa + em > Tpébyem
Tpébosa + ewb > Tpébyewb TpéboBa + eTe > TpébyeTe
TpéboBa+er > TpédyeT Tpébosa + yT > TpeéobyioT
HecTwn to carry Type 5

HEC +Yy > Hecy HEC + em > HECEM
HEC + ELlb > HeCéLwb HEC + eTe > Hecéte
HEC + T > HEeCET HEC +yT > HecyT
néyb to bake Type 6

néexk +y > neky néxK + em > nevyém
néx + eLb > ne4élb néxk + ete > neyéeTe
nék + et > neyer nék +yT > nekyTt
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Type 1 Present Tense Conjugation Samples

Type 1 verbs normally end in -aTb, -eTb, or -aTb. These verbs typically have a stem that
ends with a vowel. These verbs take Conjugation Class I endings.

pénartb to work

nénam+y > pgénawo nénam+em > pnénaem
aoénav+ewb > agénaeub nénam+ ete > pénaete
nénan+er > néenaet aoénam + vyt > pénatot
rpértb(cq) to warm; to warm up reflexive
rpém+y +csa >  rpéto(cb) rpém+em + csa > rpéem(cs)
rpém+ewb+ca > rpeéewb(cqa) rpeén+erte +cs > rpéete(cb)
rpém + eT+ ca > rpéeTt(cs) rpém+ yT + csa > rpeétot(cs)

AyTb to blow

oyn+y > pyio nyn + em > nyem

oynm +ewb > ayeub oym + ete > pyeTe

oynm + et > ayet oynm +yt > ayioT
KaTtatb(cq) to ride reflexive

Kartam + y+cs > kaTato(cb) KaTtam + em+cs > Karaem(cs)
KaTam + ewb+ca > kaTaewb(cs) KaTam + ete+cs > KaraeTe(Cb)
Katam + et+ca > kataet(cs) Karam + yt+cs > KkaratoT(cs)

6onéTtb to be sick, become ill; to root for

Gonén+y > 6onéio 6onén + em > 6onéem
6onén+ewb > OGonéewb 6onén + ete > Bonéete
oonén + et > obonéet oonén +yt > 6onéT
Tepatb to /ose

Tepsn +y > Tepsio Tepsan + em > TepsieM
Tepsn +ewb > Tepsellb Tepan + ete > TepsieTe
Tepam + et > TepsaeT Tepan + yT > TepsioT
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Type 2 Present Tense Conjugation Samples

Type 2 verbs normally end in -utb. However, a small number of verbs may end in -aTs,
-eTb, or -aTb; Some examples include: rnapértb, 3aBucéTb, 3BY4aTb, NEXAaTb,
MOJI4aTb, CMOTPETb, CTOSITb, TepnéTb, and wyméTb. Verbs in this conjugation take
Class II endings.

Xaputb to fry, grill, roast

xapn+io o > Xapto Xapm + nm > Xapum
Xapu + v > Xapub xapw + ute > xapute
xapy +ut - > Xaput xapw + at > Xapar
yuntb(ca) to teach; to study, learn reflexive

y4m + y+cs > yyy(Cb) y4n + nm+cq > yyum(cs)
Yy + vwbt+ca > y4mcb(cs) yyim +ute+ca > yyuTe(Cb)
yyam +ut+ca > yyuT(cs) yyu + AT+CcA > yyaT(cs)

cTodaTb to stand

croa+io > CTOI0 cTos + UM > CTOUM

CTOA + Vb > CTOWLWb CTOq + UTe > cTouTe
cToa +ut > CTOUT CTOA + AT > CTOAT
XXeHWUTbea to get married reflexive

XEHU + 10+Cb > XEHIKOCb XEHU + nm+cs > XEHMM(cH)
XXEHU + nLb+Csa > XEHULWbLCA XXEHU + nte+cb > XéHute(Cb)
XEHWU + UT+CA > XEHUTCH KEHW + AT+CH > XEHAT(CH)

Mon4artb to be silent, keep silent

Mon4ya +y > MOn4y MON4a + UM > MOJIYUM
MOMYa + Ub > MONYALLb Mon4a + ute > Monynute
MON4a + UT > MONYUT Mon4ya+ aT > Mon4ar
CcMOTpPEéTb to watch, look at

CMOTpe +10 > CMOTPKO CMOTpE + UM > CMOTPUM
CMOTpE + Vb > CMOTPULLb CMOTpE + nte > cMOoTpuUTe
CMOTpEe + UT > CMOTpUT CcMOTpe + AT > CMOTPAT

Note: Spelling Rules influence the Ist person singular and 3rd person plural of
yuntb(cs) and monuartb. Additionally, there is a floating stress in y4iTb(cs), XXEHATLCS
and cMOTpPéTh.
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"Type 3 Present Tense Conjugation

Type 3 verbs normally end in -HyTb, -esiTb, -asiTb, and a few verbs end in -aTb or -uTb.
These verbs are conjugated in the present tense with Conjugation Class I, -e- type
(8 when stressed).

TOHYTb to sink, drown

TOHU +y > TOHY TOHU + eM > TOHEM
TOHM + ewb > TOHeWb TOHU + eTe > TOHETEe
TOHU + €T >  TOHET TOHU + YT >  TOHYT
Hapéartbcsa to hope, wish reflexive

Hagésa ++Cb > Hageélcb Hagés + em + ca > Hapéemcs
Hagéa + ewb + ca > Hagéewbcda Hapéa+ete+cb > HaggeTecb
Hapéa +eT+ca > HajpéeTtcsa Haneéa + 1T + ¢4 > HapelTcHa

XAartb to wait, expect

xpa+y > xay Xaa + em > XOEM
xga+ewb > XKOELWb xpa + erte > xpeTe
Xpoa+ et > XKAET Xoa+yT > XAyt
TaHYTb(cH) to pull, extend reflexive

TAHY + y+Cb > TAHY(Cb) TAHY + em+cq > TaHeMm(cs)
TAHY + ewb+ca > TaHeLwb(cs) TAHY + eTe+Cb > TaHeTe(Cb)
TAHY + eT+ca > TaHeT(cs) TAHY + yT+CA > TgHYT(CA)
BA3aTb to knit 3-X stem change

BA3a +y > BAXY BA3a + em > BSIKEM
BA3a + €elb > BSXELb BA3a + eTe > BAXETE
BA3a + eT > BSXeT BA3a + YT > BAXYT

pBaTtb to tear

pBa +y > pBY pBa + em > pPBEM
pBa+ewb > pBELb pBa + eTe > pBETE
pea+eT > PBET pea+yT >  pBYT

Note: There is a floating stress in TAHYTb and TOHYTb.
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Type 4 Present Tense Conjugation

Type 4 verbs normally end in -oBartb, -eBatb. The -oea suffix reduces to -yii-
throughout the present tense. Occasionally with -eBaTtb endings, the suffix changes to
-toni, and with a stressed ending it will take -&-. Examples of such verbs include:
BOEBATb, XeBAaTb, and kNeBaTb.

aTakoBaTb to attack

arakoBa + 1o > aTakylo arakoBa +em > arakyem
arakoea + ewpb > arakyellb arakoBa +eTe > aTakyeTe
arakoea +er > arakyeTt arakoBa +yT > arakyloT
papoBatb(cq) to please, be happy reflexive

pagoBa+io+ cb > pagylocb pagoBatem+ca > pagyemcs
paposa + ewb +ca > pagyelwbcs pagosa+eTte +Ccb > panyetecb
paposa + eT+ c4 > papyetca pagosa+yrt+ca > panytTcs

BOeBaTb to be at war, fight

BOEBA + 10 > BOIOIO BOEBA + eM > BOIOEM
BOeBa +ewb > BOKOELLb BOEBA + eTe > BoKOeTE
BOEBAa + eT > BOKOET BOEBA + 10T > BOIOIOT
XanoBatbcsl to complain reflexive
xanosa + o+cs > Xanytcb xanosa + em+ca > xanyemcsi
Xanosa + ewb+Cca > XanyewbCs Xanosa +etetca > Xanyetecb
xanoea +et+ca > xanyeTcs xanosa + o1tca > XKanytTca
XeBaTb to chew

XeBa + 1o > XY XeBa + emM > XYEM
XeBa+ewb > XyELlb XeBa + eTe > XyéTe
XeBa + eT > XYET XeBa + 10T > XYKOT
npo6oBartb to try, taste

npoboga + 10 > npobyio npoé6osa + em > npobyem
npoébosa +ewb > npobyewb npobosa + eTe > npobyete

npoébosa + et > npobyer npoébosa + 1oT > npobytoT
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"Type 5 Present Tense Conjugation

Type 5 verbs end in -cTu, -3Tb, and-ctb. Many definite form (unidirectional) motion
verbs have these endings, including their prefixed derivatives. These verbs are conju-
gated in the present tense with Conjugation I, -e- class (& when stressed).

KpacTb to sink, drown

Kpag +y > Kpany Kpag + ém > Kpagém
Kpag +Ewb >  Kpagéllb Kpapg + éte > Kpagéte
Kpag + et > KpageTr Kpag, +yT > KpaayT
rpbi3Th(ca) to fight, bicker reflexive

rpbiI3+y+cCcb > rpbI3y(Cb)
rpbi3 + EWwb + CA > rpbI3ELLL(CS)
rpei3 + 8+ ca > rpbI3ET(CA)

rpbi3 + EmM + ca
rpbi3 + €Te + Cb
rpbi3 + yT + CH

> rpbi3Em(cs)
> rpbI3€TE(Cb)
> rpbI3yT(CH)

nésartb to climb, crawl!

nes+y > néasy nes +em > né3em
nes+ewb > néseub nes +ete > nézete
nes+ert > néset nes +yt > nésyTt
HecTUcb to race, tear along, rush reflexive

HEC + y+Cb > HecyCb HEC + ém+cq > Hecéemcs
HEC + Elb+Ca > HeCELIbCH HEC + éTe+Cb > HeceéTecb
HEC + éT+CcA > HecETcs HEC + yT+Cs > HecyTCcH

MecTu* to sweep

c-T stem change

MET +Yy > MeTy MET + em > MeTEM
MET +eWb > MeTElWb MET + eTe > MeTéTe
MET + eT >  MeTeT MET + yT > MeTyT
Opectn to stroll

Opén +vy > Openy Opén + ém > Openém
Opén +éwb > Openéub Opén + éte > bpenéte
Opén+ér > Openér Opén +yT > OpenyT
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"Type 6 Present Tense Conjugation

Type 6 verbs end in -ub. Normally the final consonant is part of the stem. These verbs
are conjugated in the present tense with the Conjugation I, -e- class (& when stressed).
Often these verbs are encountered in the perfective aspect (non-present tense), but
below are exceptions. In this conjugation type, alternations between 1st person singular
and 3rd person plural are frequent.

Xéub to burn y-r-xx  stem change
x|r+y > Xy x|+ ém > IOKEM
X|r+éwb > xKélWb x|+ éte > xkéTe
x|+ &t > IOKET x|r+yT > XryT

G6epéub(cqa) to guard, protect, take care r-x stem change reflexive

Gepér+y+cb > Oepery(cb)  Gepér+ém+ca > Gepexémcs
Gepér + Elb + ¢ > Gepexelub(cs) Gepér +Eéte+co > Gepexerech
Gepér + 8T+ ca > Bepexétca(cb) 6epér +yt+ca > Geperyrcs

Téub to flow 3rd person only 4-k stem change
Tlk+y > — T|K+em > —

Tlk+ews > — T|k +eTe > —

T|k+er > TEYET T|K+yT > TekyT
cTpuub(cqa) to get a haircut y-r stem change reflexive
cTpur + y+cb > cTpury(co) CTpur + ém+cq > CTpUxXEm(ca)
CTpUr + EWb+Ca > CTPUXELbL(CS) CTpUr + ETe+Cb > CTpuxXETe(Cb)
CTpur + éT+ca > CTPUXET(Ca) CTpur + yT+ca > cTpuryt(cs)
céub to cut into pieces, slash y-Kk stem change
clk+y > ceky clk+em > ceuém
clk+ewb > ceuduwb clk+ete > ceuéTe
clk+er > Ccevyér clk+yr > cekyT
cTepéub to guard, watch y-x stem change
CTepér +vy > cTepery CTEepEr + ém > CTEepexem
CTEepér + b >  CTepexeéllb CTepér + éte > CcTepexeTe

CTepér + &t >  CTepexer CTepér +yT1 > cTeperyt
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Irregular Present Tense Conjugation

Just as in English, some verbs in the Russian language have irregular stems. Some of
these verbs, especially high-frequency ones, originated in Russia many centuries ago and
have totally irregular forms. Other verbs may be presented in the conjugation tables of
this book with the stem, but an explanation of their conjugation pattern exceeds the
scope of this book; they are therefore listed in the Russian Verb Index as (i), designating
as deviating from the other six types of conjugations shown in the preceding pages.
Many of these irregular verbs change their stem between the present and the past, or
have irregular vowel/consonant mutations. Examples of such verbs are listed below:

nuTb to drink nuTb to pour

nbto NbEM Nbio NbEM
NMbELLb neéte Nbelb NbETe
neeT nbioOT NbET NbIOT
ecTb to eat MOub to be able

em eanm Mory MOXEM
eulb eonte MOXeELLIb MoxXeTe
ecTt enaT MOXET MOryT
néTb to sing cnartb to sleep

noto MOEém cnno cnum
noéulb noére cnyb cnute
noeT nowT cnnT cnaT
XOoTéTb to want y-T stem change
X0 +y > Xouy XOT + UM > XOTUM
X0y +ewb > xo4ellb XOT + ute > XOTuTe
Xo4 + et > xo4eT XOT + aT > XOTAT
MbITbCS to wash reflexive

MOW + 10+Cb >  MOCb MOW + eM+csl > moemcH
MOI + ewb+ca > MOeLbCs MOW + eTe+Cb > moeTecb
MoOM + eT+ca > wmMoeTcs MOW + 1oT+Cs > motTCS

y3HaBaTb to recognize, find out

y3Ha + 10 > y3Hawd y3Ha + éM > y3HaéM
y3Ha + élWlb >  y3Haélb y3Ha + éTe > y3HaéTe
y3Ha + 6T > y3HaET y3Ha + 10T > y3HaoT
BCTaBaTb to get up, rise

BCTa + 10 > BCTa BCTa + EM > BCTaéM
BCTa+ EWb > BCTaéllb BCTa + €Te > BCTaéTe
BCTa+&T > BCTa€T BCTa + 10T > BCTaOT
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